CALIFORNIA OR BUST!
You have earned $250 to spend on a spring break trip. Your meals will cost an average of $7 each and your gas will be $2.00 per gallon. Your car earns 25 mi/gal. How far can you travel, and for how many days?

Let X = the number of meals

Let Y = the number of gallons of gasoline

1. Set up an equation. __________________________________

2.  Solve the equation for Y. _____________________________

TO ENTER THE EQUATION IN THE CALCULATOR:
*Use the Y= key. Be sure to put fractions in parentheses and use the negative key, not the subtract key.

*Hit Zoom Out Enter, Enter (Hit enter until you see the graph cross both axes.)

*Hit Trace to find possibilities for meals and gallons of gas. Use arrow keys to find the intercepts.

*Hit [2nd] [table]. Scroll to find the possibilities and intercepts.

3. What does the X intercept mean?

4. What does the Y intercept mean?

5. Do all the values make sense in this problem? Give examples to show why or why not.

6. Could you find both intercepts on the calculator? Why or why not?

7. Find the intercepts algebraically.

X intercept (plug 0 in for Y) ___________________________

Y intercept (plut 0 in for X) ____________________________

With a partner, make up a story and equation similar to the one above (You may change the prices in the above story.) Put the equation into the calculator. Find possible solutions AND find the intercepts. 

*Verify one solution and the intercepts algebraically.

Present your story and solutions to the class.

